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FA SEE2M
A gFe|(gZ/egeses)
el ekl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHEH L 59,957,975 53,519,310 6,438,665
= 38,606,446
[ 1,171,000
Al 20,120,529
gZze|(gz/8gdesest) 268,633 216,632 52,001
sFgetae| 268,633 216,632 52,001
SE2ACIAIAE 2E 246,201 194,200 52,001
201 et23| 183,831 178,000 5,831
02 S3=gl 183,831 178,000 5,831
Os&sk= € MA 57,600
otiy|gtd = HEE HJ|Rs
1,500,000& «12& 18,000
oyl s= & SRS
100,000& *5IH A x 12 6,000
OAFZLIHE ALY &L=
250,000 x 122 3,000
O AFZLIHE AIAE SERS
100,000& 2504 =% 123 30,000
0EEREAMEI(18) SRS
50,0002« 1CH =12 600
OAIZ2Z =X 126,231
ot d = M&E X2l
14,974,000 14,974
0 AFZLIHEAAE FXI2cH]
35,257,000 35,257
O ASA 2ME RAUAHSAAY X2
&= 76,000,000& 76,000
206 M=l 62,370 16,200 46,170
01 M=4l 62,370 16,200 46,170
otatg+== g 22F 1,240
olLED 2= 440,000 1 JH*10H A 440
oMESSEX 400,000 *2IH*10H A 800
OSLFHZLIHEAIAYE 225
61,130,000 61,130
g &elFd 22,432 22,432
201 et 3| 632 632
01 At22t2l] 632 632
O=gHtl 632,000 632
202 04l 3,000 3,000
01 SLHoIH 3,000 3,000
OZLH0AHI 1,000,000 1,000
o220l 2,000,000& 2,000
203 =4l 1,400 1,400
03 A=A PR FZ| 1,400 1,400




FA SEE2M
Hu: e (BY/BIREUY)
el ekl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OtiEga A=A 2tE3]
1,400,000& 1,400
204 e A 15,600 15,600
03 S3g =3l 15,600 15,600
otfeletssl 50,0002 «26EH 122 15,600
308 AFAIEHMSOIE 1,800 1,800
2 d+=uF3 1,800 1,800
O=ZUER= 1,800,000 1,800
Ciol2el (&8 /1) 59,307,382 52,822,880 6,484,502
= 38,611,134
s 1,171,000
Al 19,525,248
tioletd oHe 30,220,152 25,942,092 4,278,060
= 21,168,260
Al 9,051,892
Uolatd d&st At 171,712 15,712 156,000
201 er23y| 16,712 16,712 0
01 AtR2t2|HI 15,712 15,712 0
Odgt==H| 5,000
oI NN ot 222 M
2,000& +2,500% 5,000
O=2g+¢ 7,000
oiIIEEEN 239 29+
100,000 x10H+33] 3,000
o=MAFAAS 2o E 2 HE2I =&
4,000,000 4,000
O=gH| 3,712,000& 3,712
202 04l 6,000 0 6.000
01 =LHAHI 6,000 0 6,000
OZLH0AHI 4,000,000& 4,000
O&22l(tl 2,000,000 2,000
207 ARl 150,000 0 150,000
01 A S| 150,000 0 150,000
O Soll et2geE It 9
150,000,000 150,000
NHEE N=sABYe ESMS 1,838,360 1,840,000 21,640
= 1,338,360
Al 500,000
308 AXIMSOIA 1,838,360 1,840,000 1,640
= 1,338,360
Al 500,000
01 MAHHBSEEXS 1,838,360 1,840,000 21,640
OJEE MN=sA22e E=SME
1,838,360,000& 1,838,360




SN BHRED
Za: Ozl (2> /001)
Rl toEd oHe (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,338,360
Al 500,000
AXHH 12y S22 £X129Y 195,000 0 195,000
= 97,500
Al 97,500
405 KHoHFSHI 195,000 0 195,000
= 97,500
Al 97,500
01 TR =S FISHI 195,000 0 195,000
onJla=sgd &x 195,000,000 195,000
= 97,500
Al 97,500
ZDIXSIH 2ESAH 26,932,000 23,149,000 3,783,000
= 19,236,000
Al 7,696,000
402 2I2F X201 & 26,753,500 22,927,500 3,826,000
= 19,103,000
Al 7,650,500
02 QI XHE AL E R (01X THE) 26,753,500 22,927,500 3,826,000
OXIIXSIt SS A (2124)
26,753,500,000& 26,753,500
= 19,103,000
Al 7,650,500
403 AXIEHHISAH=0lH 178,500 221,500 /43,000
= 133,000
Al 45,500
01 A= 2L 178,500 221,500 243,000
OISR RO (7. 2)
178,500,000 178,500
= 133,000
Al 45,500
ST S8 S Zet 5 245,780 245,780 0
201 =3 195,780 195,780
01 AtR2t2lt] 24,000 24,000
Oget=ZH| 24,000
oBTAIE Mot 2|t =5
24,000,000& 24,000
02 S3=gHl 171,780 171,780 0
O332= € HMAl 154,980
o MIINSA SESTAE IS
600,000& x210 24+ 12 151,200
o HIINSI SEEHAE SMR=
15,0003 214 2+ 123 3,780
OAIE2 &= X 16,800




SN BHRED
Za: Ozl (2> /001)
el toletE oe (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORINS SEERAE 2LR A
50,0003 287+ 12& 16,800
307 gl2to| & 50,000 50,000
05 212t =S 50,000 50,000
OHIINSA ESSHANE AEES
50,000,0002 50,000
ZII0IEX 2ESAE 677,300 561,600 115,700
= 396,400
Al 280,900
402 QIF X201 & 675,500 568,300 117,200
= 395,500
Al 280,000
02 QI X2 AL EE(0IHTHE) 675,500 558,300 117,200
OTII0IEXt 22 At (2124
675,500,000 675,500
= 395,500
Al 280,000
403 AXIEHHSAH=201H 1,800 3,300 21,500
= 900
Al 900
01 AXISHHA=2EE 1,800 3,300 21,500
O&II0IEXt ESAHY 1,800,000 1,800
= 900
Al 900
=) 2SAE 160,000 130,000 30,000
= 100,000
Al 60,000
402 2I2F X201 & 160,000 130,000 30,000
= 100,000
Al 60,000
02 QI EASEX(0IETHR) 160,000 130,000 30,000
O&EIIZ2I| ESAt (2124
160,000,000 160,000
= 100,000
Al 60,000
OIMIE X 2te] 25,425,570 23,499,912 1,925,658
= 16,148,954
s 225,000
Al 9,061,616
OINIEIX CHESAISE 243,212 143,412 99,800
201 er2 3| 235,212 135,412 99,800
01 At2teltl 197,472 97,672 99,800
OSSR S DOITHEAAY ATE 0 7L
(LEHE 21}) 49,800,000 49,800
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X XH -
o=

SEEA L

tiol2el (& /to1)

s OIMIZ X2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Olsk OIMZX s 222 M
10,000,000 10,000
OSHHS DOISEAIAL BALTEY O
- 3,000,000 3,000
OZXJIHX XN dfUdr=
130,000,000 130,000
O=gH| 4,672,000 4,672
02 S3=gHl 37,740 37,740 0
Os&sk= € MA 37,740
o 2ERMSH SIHSAIAE M3
10,000& *120H* 123 1,440
o 2UHIE RULEBAAE SURS
100,000& x137 12& 15,600
o 2NAHIA ALESE 700,000 700
0RBR= 10,000,000 x22] 20,000
202 04| 8,000 8,000
01 =LHOLI 8,000 8,000
OZLH0iH] 5,000,000& 5,000
o220l 3,000,000& 3,000
OIMIZHAl S HHE L2 AKX 450,000 450,000 0
= 225,000
Al 225,000
101 @12A4H| 370,000 369,790 210
[ 185,000
Al 185,000
04 JIZtN2Z2XNSE+ 370,000 369,790 210
OUIMZHAI =HHHE S AIXA 1244]
370,000,000 370,000
= 185,000
Al 185,000
201 er23| 80,000 80,210 A210
= 40,000
Al 40,000
01 AtR2t2|HI 57,000 54,000 3,000
ODIMIEAl SYE HBZAIXE AtR2
] 57,000,000& 57,000
[ 28,500
Al 28,500
2 S5=2g4l 23,000 26,210 23,210
OO0IMZX SHUHE HZZAXE S22
]l 23,000,000 23,000
= 11,500
Al 11,500
LPGXH & XI& At 490,000 657,500 167,500
= 245,000
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X XH -
o=

SEEA L

tiol2el (& /to1)

s DM XI2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 245,000
402 2I2FX=01 & 490,000 657,500 /167,500
= 245,000
Al 245,000
02 RIINEASEZ(0IETHR) 490,000 657,500 A167,500
OLPG Xt&t &&h XIZ A 490,000,000& 490,000
= 245,000
Al 245,000
SR BHEA HZAHY 23,640,550 21,082,000 2,558,550
= 15,640,550
Al 8,000,000
402 212t X201 & 23,640,550 21,082,000 2,558,550
= 15,640,550
Al 8,000,000
02 QI XHE AL E R (01X THEH) 23,640,550 21,082,000 2,558,550
OSBAR HEIA H2A
23,640,550,000& 23,640,550
= 15,640,550
Al 8,000,000
B3I12 UEX 457X 2l 66,808 42,000 24,808
= 33,404
Al 33,404
402 2I2F X201 & 66,808 42,000 24,808
= 33,404
Al 33,404
02 QI XHE AL E R (01X THE) 66,808 42,000 24,808
OE3JI12 BUEX ds7X 2l
66,808,000 66,808
= 33,404
Al 33,404
T2 THHIAE X M A 305,000 1,125,000 820,000
= 230,000
Al 75,000
403 MR HHMSAH=01H 305,000 1,125,000 /820,000
= 230,000
Al 75,000
01 A= 2L 305,000 1,125,000 820,000
OEZ MHIAHKX MIHAH
305,000,000 *1CH 305,000
= 230,000
Al 75,000
S 0ASXE22C|HE XA 230,000 0 230,000
307 elztol & 230,000 230,000




A SEE8N
M ol 2tel (22 /001)
s OIMIZ X2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 230,000 0 230,000
Os<@ DM 2e|dE X3 (SIH
EXH) 230,000,000 230,000
IR =2l 3,661,660 3,380,876 280,784
= 1,293,920
= 946,000
Al 1,421,740
o= A XAEEE 113,916 180,916 267,000
201 er23 | 12,072 12,072 0
01 AtR2te|Hl 8,072 8,072 0
Odgt==H| 5,440
oUIIHER A NI=EZH QI
300 #2,0002 %25 1,200
oIIENE E2= UM
1,200,000 1,200
0EE2Z HIEAE NS gA & N
&t 180,000 24 *30H 540
0 IAEHI| FEHA =2
312,500 +85 2,500
O=gH| 2,632,000& 2,632
2 35234l 4,000 4,000 0
OAlE &8I Xl 4,000
o HIIFMEH FAIE==HI
1,000,000 *45+13] 4,000
202 04| 13,400 13,400
01 =LHOLI 13,400 13,400
O2LH0iH] 6,400,000 *12] 6,400
o220l 7,000,000& 12} 7,000
203 gR=| 1,000 1,000
03 A= LR F&IH| 1,000 1,000
OF Mg & UIlEZ ML AIMFA
1,000,000& %12 1,000
206 M=l 29,620 29,620
01 M= HI 29,620 29,620
OlolEg s =8 & AN 223 29,620
otHIIANE THH A2F 7Y
27,620,000 27,620
oI E A e N FHl Y
2,000,000 2,000
301 EtE NS 9,824 9,824
11 AALAHIXIES 424 424
OZ 2t =39 A Ad24
10,6002 20 & *22 424
14 IIEt2 8= 9,400 9,400 0




A BHEEH
A o2l (83/001)

o2l toIX =2l (SH &)
SA - B BRA(SH) - HRA - of v e HIDE2
OtZgae Alxas
3,000,002 3,000
OUIBESCHS HOBIZIOl PAt
50,0002 8 *4 3] x4 6,400
307 212+01& 15,000 15,000
02 LB MANHEE 15,000 15,000
Odlle AEE A 15,000,000 15,000
405 AHaHE S 33,000 100,000 267,000
01 AL =S F=HI 33,000 100,000 67,000
OGAHDLIEIZ ALY 7% - 2
33,000,000 1CH 33,000
A2 AHREE HIIQE SAAE X N3AE 1,580,793 1,610,400 A29,607
= 948,000
Al 632,793
201 et 3| 82,793 80,400 2,393
01 AlR22IH| 82,793 80,400 2,393
OARD AR UDIQE UXAIE &3 X
A R0 =2 82,793
o NS &A 96,8302 %1502 14,525
oSTHAM 290,500 * 1002 29,050
0 E=ESHA 290,500 *352 10,168
oAtz 2te] 145,250 1000 2+23] 29,050
402 QI2F X201 & 1,498,000 1,530,000 A32,000
= 948,000
Al 550,000
02 QIR A B (01T ) 1,498,000 1,530,000 32,000
OARD AIRIE UDI2E SXAIE &% X
AL 1,498,000,000& 12 1,498,000
= 948,000
Al 550,000
A ZAEE e HIPDHE X2 A 280,000 0 280,000
= 200,000
Al 80,000
403 TR SHMSAH=01H 280,000 0 280,000
= 200,000
Al 80,000
01 XA A= 280,000 0 280,000
OAAZRAIEE 2 WY NEAS 280,000
oATRAEY ZHER UIDHE XA
& 280,000,000 280,000
= 200,000
Al 80,000
NSIHHE LA B 6,200 6,200 0
201 Ler23 | 5,200 5,200




FA SEE2M
S Uo12tel(&d/ao1)
chelr oI 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 5,000 5,000 0
Odit==H| 5,000
o NtSAt HHEIA HEEEE M
2,500,000 2,500
oXSA B3N HEEEE A
2,500,000 2,500
2 35244l 200 200 0
OAlZ &I Xl 200
o AtSXt BHEJtA SHEEH| s=2lH]
200,000 200
202 04| 1,000 1,000
01 2K 1,000 1,000
OZ2|0dl 1,000,000& 1,000
=SANSSEID| 4R - 2g22/dl X2 209,760 209,760 0
= 145,920
Al 63,840
402 QI”F X201 & 209,760 209,760 0
= 145,920
Al 63,840
02 QI X2 AL E R (0IETHE) 209,760 209,760 0
O==XNS=EID| 2228 N
209,760,000 209,760
2 145,920
Al 63,840
eRItESI LAY 2SN 8,500 8,500
307 lztol & 8,500 8,500
02 2B A HE L 8,500 8,500
OouztitsstdZAe &K
8,5002 * 102 +100& 8,500
=cl0lE XMelX& 1,419,000 1,295,100 123,900
= 946,000
Al 473,000
308 AtAIEMSOIE 1,419,000 1,295,100 123,900
[ 946,000
Al 473,000
01 AXENBSEES 1,419,000 1,295,100 123,900
O=dlolE ™Melk# 1,419,000,000& 1,419,000
= 946,000
Al 473,000
ATl 2HsE0 28 X 43,491 43,491
308 AHXIEMSOIH 43,491 43,491
01 XN BSELES 43,491 43,491
OAgme FHMSH fE= N (RIAE
X&) 43,491,000 43,491
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4,000
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FA SEEM
B SR (BY/AGAT - 2F)
ol =EX 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 15,000 15,000
01 XN BELES 15,000 15,000
OU2g 47 JE2E Mol N
15,000,000 * 14 15,000
FANSSEII| £ - 2S NE A 61,968 180,984 /89,016
= 41,312
Al 20,656
402 2I2FX=201H 61,968 150,984 /89,016
= 41,312
Al 20,656
02 QI TH2AILEE(OIHTHE) 61,968 150,984 189,016
Ox8AUSEEII| £X1 - 2F NAAME
30,984,000 +20H 2~ 61,968
= 41,312
Al 20,656
Wees(8F2d) (e3/83258) 18,000 0 18,000
= 14,000
Al 4,000
WA XIE 18,000 0 18,000
= 14,000
Al 4,000
WA XIE 18,000 0 18,000
= 14,000
Al 4,000
701 JIEtI HSHES 18,000 0 18,000
= 14,000
Al 4,000
01 JIEtI AN ES 18,000 0 18,000
O8] d&= 18,000
o MIINSI P (HLT AL A)
18,000,000& 18,000
= 14,000
Al 4,000
HY2AHH(BZEX D) (DIEH/DIE 232,70 229,612 3,178
el 198,714 195,536 3,178
elIg =3l 198,714 195,536 3,178
101 e124d| 198,714 195,536 3,178
01 &= 198,714 195,536 3,178
o< 198,714
oZU2RFE 198,714
A2 22+g
12,3213 %32 #42A1 2t 123 198,714
JlI=23sl 34,076 34,076 0




SN BHRED
. AY2EIHI(SF 2 D) (OIEHIIEH
el JI=2 3 (Cte: M
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl=3H] 34,076 34,076
201 er23 | 17,076 17,076
01 At2teltl 14,304 14,304
OJI2At222ll 20,0003 «26H * 123 6,240
@=i] 4,752,000& 4,752
O=ADI| itz 250,000 * 128 3,000
O&=D| ex= 26,0002 12 312
02 S5=g4l 2,772 2,772 0
O8&82= € HA 2,772
0RER= 2,772,000& 2,772
202 04| 8,000 8,000
01 2K 8,000 8,000
O2U 048l 6,000,000& 6,000
o220l 2,000,000& 2,000
203 HR=H] 4,800 4,800
M EAEgER=A 4,800 4,800
ORAMEEYg =2t 400,000& 122 4,800
204 AR A 4,200 4,200
01 Mg R3] 4,200 4,200
Ostd=2d 1y 350,000 * 12 4,200




